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fBEKXZ 28 7 20 55 18 18
BEREXZF 0 6 0 6 o 2
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F—LB -5 B PLAY PLAYER(S) ¥—FK TFP PLAYER(S)  HIG/XHNG
fBEKXZ 2 0:05 run #2742 K 12 K #45— K G
fBEXE 2 4:04 run #63 £ 5 K #45— K G
B KZF 2 5:30 run #27 R K 16 K #45— K G
fBEKXZ 2 10:03 run #2742 K 49 K #45— K G
BEREX®E 3 9:42 pass #OMY T —#24h |1 50 K #59ch 57 NG
BEKXE 3 11:22 pass #81— L —#83F R 32 K #45— K G
fBEKXZ 4 0:06 run #2742 K 8 K #45— K G
BEXE 4 1:53 run #81= 20 K #45— K NG
EEXE 4 4:39 run #4878 18 K #45— K G
F— LA f& [ K% BREXZE
1.97—ART oY E# (5> —/"R—KA|) 24(21— 2— 1) 8( 0— 8— 0)
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5.5 8l E#H—EKvV—F 1 — 15Yds 2 — 17Yds
6.77>7 L B % —F X 4—4 3—-2
7.74—ILEI—)L B — B2 0—0 0—0
8. R— LT B B 20:27 27:33
9.3rd—down Conversion 3.5 5713
10.4th—down Conversion 1.1 02
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